1. Daily Calculations Questions
. J2 |3

8+7= 409 + 100 = 256 + 372 =
10-6= 172-100 = 408 — 267 =
13x2= 57x10= 4x9=

40 divided by 2 = 100 divided by 5 = 56 divided by 8 =

7x5= 106 - 40 = 34 x4 =



1. Daily Calculations Answers

I e

8+7=15 409 + 100 = 509 256 + 372 =628
10-6=4 172-100=72 408 — 267 =141
13x2=26 57 x10 =570 4x9=36

40 divided by 2 = 20 100 divided by 5 =20 56 divided by 8 =7

7x5=35 106 —40 = 66 34 x4 =136



2. Daily Calculations Questions

I e

23-11= 3/5+1/5= 2/6 +3/6 =

13+ 15= 4/7 -2/7 = 9/10-4/10=
2x7= 5x8= 68 x 3 =

30 divided by 5 = 48 divided by 8 = 84 divided by 7 =

%, of 14 = 153 -22 = 432 - 138 =



2. Daily Calculations Answers

I e

23-11=12 3/5+1/5=4/5 2/6 +3/6=5/6
13 +15=28 47 -2/7=2/7 9/10-4/10=5/10
2x7=14 5x8=40 68 x 3 =204

30 divided by 5=6 48 divided by 8 = 6 84 divided by 7 = 12

»of 14 =7 153-22=131 432 -138 = 294



3. Daily Calculations Questions

I e

31+14 = 310+47 = 432 + 146 =
54-17 = 175-78 = 632 - 283 =
2x11= 3x7= 7x9=

24 divided by 2 = 35 divided by 7 = 49 divided by 7 =

% of 6 = 1/3 of 21 = 2/6 of 36 =



3. Daily Calculations Answers

I e

31+14 =45 310 + 47 =357 432 + 146 =578
54-17 =37 175-78 =97 632 — 283 = 349
2x11=22 3x7=21 7x9=63

24 divided by 2 =12 35 divided by 7 =5 49 divided by 7 =7

V2 0f6=3 1/30f21=7 2/6 of 36 =12



4. Daily Calculations Questions

I e

30 divided by 10 = 36 divided by 6 = 48 divided by 8 =
12+17 = 19+32= 324 + 214 =
19-15= 53-19= 541 -156=
5x12= 3x3= 13x8 =

% of 8 = 1/3 of 12 = 2/3 0of 12 =



4. Daily Calculations Answers

I e

30 divided by 10 =3 36 divided by 6 =6 48 divided by 8 = 6
12+17=29 19+32=51 324 + 214 = 538
19-15=4 53-19=34 541 - 156 = 385
5x12 =60 3x3=9 13x8 =104

20f 8=4 1/30f12=4 2/30f12=8



5. Daily Calculations Questions

I e

13+ 14 = 25+37 = 431 + 143 =
21-19= 54 -37 = 452 - 111 =
2x9= 3Xx6= 8x5=

20 divided by 5 = 24 divided by 4 = 40 divided by 8 =

1/5 of 25 = 1/3 of 21 = 2/4 of 16 =



5. Daily Calculations Answers

I e

13+14=17 25+ 37 =62 431+ 143 =574
21-19=2 54-37=17 452 -111 =341
2x9=18 3x6=18 8x5=40

20 divided by 5 =4 24 divided by 4 =6 40 divided by 8 =5

1/50f25=5 1/30f21=7 2/40f 16 =8



